About Various Methods of Calculating the Sum $\sum_{k=1}^{n} k^m$

Grzegorz Bryll^a, Grażyna Rygał^b

^aInstitute of Mathematics and Computer Science Opole University Oleska 48, 45-052 Opole, Poland

^bInstitute of Mathematics and Computer Science Jan Długosz University of Częstochowa al. Armii Krajowej 13/15, 42-200 Częstochowa, Poland e-mail: g.rygal@ajd.czest.pl

Abstract

Pupils of secondary school as well as students often have problems with calculating the sums of the mth powers of successive natural numbers. In this paper we present certain methods of finding such sums.

The first method

To find the sum $\sum_{k=1}^{n} k^m$ we use the expansion of $(n+1)^{m+1}$ according to the binomial theorem and next calculate the difference $(n+1)^{m+1} - n^{m+1}$ (see [5]). Thus, we have

$$(n+1)^{m+1} = {m+1 \choose 0} n^{m+1} + {m+1 \choose 1} n^m + {m+1 \choose 2} n^{m-1} + \dots + + {m+1 \choose m} n^1 + {m+1 \choose m+1} n^0,$$

$$(n+1)^{m+1} - n^{m+1} = {m+1 \choose 1} n^m + {m+1 \choose 2} n^{m-1} + + \dots + {m+1 \choose m} n + 1.$$

$$(2)$$

Based on Eq. (2) for natural numbers $1, 2, \ldots, n$ we obtain

$$2^{m+1} - 1 = {m+1 \choose 1} 1^m + {m+1 \choose 2} 1^{m-1} + \dots + {m+1 \choose m} \cdot 1 + 1,$$

$$3^{m+1} - 2^{m+1} = {m+1 \choose 1} 2^m + {m+1 \choose 2} 2^{m-1} + \dots + {m+1 \choose m} \cdot 2 + 1,$$

$$\vdots \qquad \vdots \qquad \vdots$$

$$n^{m+1} - (n-1)^{m+1} = {m+1 \choose 1} (n-1)^m +$$

$$+ {m+1 \choose 2} (n-1)^{m-1} + \dots + {m+1 \choose m} (n-1) + 1,$$

$$(n+1)^{m+1} - n^{m+1} = {m+1 \choose 1} n^m + {m+1 \choose 2} n^{m-1} +$$

$$\dots + {m+1 \choose m} \cdot n + 1.$$

Summing the both sides of Eq. (3) we find

$$(n+1)^{m+1} - 1 = {m+1 \choose 1} \sum_{k=1}^{n} k^m + {m+1 \choose 2} \sum_{k=1}^{n} k^{m-1} + \cdots$$
$$\cdots + {m+1 \choose m} \sum_{k=1}^{n} k + n.$$
(4)

From (4) it is possible to determine $\sum_{k=1}^{n} k^{m}$ having the sums

$$\sum_{k=1}^{n} k^{m-1}, \quad \sum_{k=1}^{n} k^{m-2}, \quad \dots, \quad \sum_{k=1}^{n} k.$$

These sums can also be calculated using the method described above.

For example, the sum $\sum_{k=1}^{n} k^2$ is obtained as follows.

Since
$$(n+1)^3 - n^3 = 3n^2 + 3n + 1$$
, then

$$2^3 - 1 = 3 \cdot 1^2 + 3 \cdot 1 + 1,$$

$$3^3 - 2^3 = 3 \cdot 2^2 + 3 \cdot 2 + 1,$$

$$\vdots \qquad \vdots$$

$$n^3 - (n-1)^3 = 3(n-1)^2 + 3(n-1) + 1,$$

$$(n+1)^3 - n^3 = 3n^2 + 3n + 1.$$

Summing the both sides of these equalities we have

$$(n+1)^3 - 1 = 3\sum_{k=1}^n k^2 + 3\sum_{k=1}^n k + n;$$

whence it follows that

$$3\sum_{k=1}^{n} k^2 = (n+1)^3 - 1 - 3\sum_{k=1}^{n} k - n.$$

Since $\sum_{k=1}^{n} k = \frac{1}{2}n(n+1)$, then we finally obtain

$$\sum_{n=1}^{n} k^{2} = \frac{1}{6} n (n+1) (2n+1).$$

The second method

The sum $\sum_{k=1}^{n} k^{m}$ is represented as*

$$\sum_{k=1}^{n} k^{m} = \sum_{k=1}^{n} k \left[k^{m} - (k+1)^{m} \right] + n \left(n+1 \right)^{m}.$$
 (5)

For example, for the sum $\sum_{k=1}^{n} k^3$ we have:

$$\sum_{k=1}^{n} k^{3} = \sum_{k=1}^{n} k \left[k^{3} - (k+1)^{3} \right] + n (n+1)^{3}$$
 (6)

or

$$\sum_{k=1}^{n} k^{3} = \sum_{k=1}^{n} k \left(-3k^{2} - 3k - 1 \right) + n \left(n + 1 \right)^{3}. \tag{7}$$

Hence,

$$\sum_{k=1}^{n} k^{3} = -3\sum_{k=1}^{n} k^{3} - 3\sum_{k=1}^{n} k^{2} - \sum_{k=1}^{n} k + n(n+1)^{3}.$$
 (8)

Taking into account the formulae

$$\sum_{k=1}^{n} k^{2} = \frac{1}{6} n (n+1) (2n+1), \qquad \sum_{k=1}^{n} k = \frac{1}{2} n (n+1)$$

we find that

$$4\sum_{n=1}^{n} k^{3} = -\frac{1}{2}n(n+1)(2n+1) - \frac{1}{2}n(n+1) + n(n+1)^{3}.$$
 (9)

$$\sum_{k=1}^{n} a_k = \sum_{k=1}^{n} k \left(a_k - a_{k+1} \right) + n a_{n+1}$$

^{*}Using the complete induction it can be shown that the following formula is valid for an arbitrary sequence $\{a_n\}$ (see [6]):

Therefore, after simple transformation we finally obtain

$$\sum_{k=1}^{n} k^3 = \frac{1}{4} n^2 (n+1)^2 = \left(\sum_{k=1}^{n} k\right)^2.$$
 (10)

It should be noted that this method also involves calculation of the

previous sums $\sum_{k=1}^{n} k, \sum_{k=1}^{n} k^2, \dots, \sum_{k=1}^{n} k^{m-1}$ for calculating the required sum $\sum_{k=1}^{n} k^m$.

The third method

To determine the sum $\sum_{k=1}^{n} k^{m}$ we use the properties of arithmetic sequences of higher degrees. For an arbitrary number sequence $\{a_{n}\}$ we define the sequences of successive finite differences

$$\Delta^{1} a_{i} = a_{i+1} - a_{i}$$

$$\Delta^{k+1} a_{i} = \Delta^{k} a_{i+1} - \Delta^{k} a_{i}$$

$$i = 1, 2, \dots$$
(11)

A sequence $\{a_n\}$ is called an arithmetic sequence of the degree m (m = 1, 2, ...) if and only if the sequence $\{\Delta^m a_n\}$ is constant and $\Delta^m a_n \neq 0$.

The constant sequence is called an arithmetic sequence of the zero degree. It can be proved that:

1. An arbitrary term of an arithmetic sequence $\{a_n\}$ of the degree m is expressed by the following formula

$$a_n = \binom{n-1}{0} a_1 + \binom{n-1}{1} \Delta^1 a_1 + \binom{n-1}{2} \Delta^2 a_1 + \dots + \binom{n-1}{m} \Delta^m a_1,$$
(12)

whereas the sum of n initial terms of this sequence is equal to

$$s_n = \binom{n}{1}a_1 + \binom{n}{2}\Delta^1 a_1 + \binom{n}{3}\Delta^2 a_1 + \dots + \binom{n}{m+1}\Delta^m a_1.$$
 (13)

2. If the terms of a sequence $\{a_n\}$ are of the form $a_n = f(n)$, $n = 1, 2, \ldots$, where f is a polynomial of the mth degree $(m \ge 0)$, then the given sequence is an arithmetic sequence of the degree m.

It is obvious that the sum of n initial terms of arithmetic sequence of the degree m can be determined having the term a_1 and the differences $\Delta^1 a_1, \Delta^2 a_1, \ldots, \Delta^m a_1$. To find these differences we fill in the following table

As an example, we calculate the sum $\sum_{k=1}^{n} k^3$ using the method of successive differences. Consider a sequence $a_n = n^3$ being an arithmetic sequence of the third degree. For this sequence we fill in a table of successive finite differences

Hence, we have $a_1 = 1$, $\Delta^1 a_1 = 7$, $\Delta^2 a_1 = 12$, $\Delta^3 a_1 = 6$. Using Eq. (13) we obtain

$$s_n = \sum_{k=1}^n k^3 = \binom{n}{1} a_1 + \binom{n}{2} \Delta^1 a_1 + \binom{n}{3} \Delta^2 a_1 + \binom{n}{4} \Delta^3 a_1 =$$

$$= \binom{n}{1} + 7\binom{n}{2} + 12\binom{n}{3} + 6\binom{n}{4} = \frac{n^2}{4} (n+1)^2 = \left(\sum_{k=1}^n k\right)^2.$$

It should be pointed out that using the method of successive differences for calculating the sum $\sum_{k=1}^{n} k^{m}$ it is not necessary to calculate the preceding sums $\sum_{k=1}^{n} k$, $\sum_{k=1}^{n} k^{2}$,..., $\sum_{k=1}^{n} k^{m-1}$.

The fourth method

Since a sequence $\{a_n\}$, where $a_n = n^k$, is an arithmetic sequence of the degree n, then a sequence $\{s_m(n)\}$, where $s_m(n) = \sum_{k=1}^n k^m$, is an arithmetic sequence of the degree (m+1). Consider the following polynomial in n:

$$W_{m+1}(n) = c_{m+1}n^{m+1} + c_m n^m + \dots + c_2 n^2 + c_1 n$$
 (15)

and the difference

$$R_{m+1}(n) = s_m(n) - W_{m+1}(n). (16)$$

Therefore, we have

$$R_{m+1}(n) - R_{m+1}(n+1) = \left(\sum_{k=1}^{n} k^{m} - \sum_{i=1}^{m+1} c_{i} n^{i}\right) - \left(\sum_{k=1}^{n+1} k^{m} - \sum_{i=1}^{m+1} c_{i} (n+1)^{i}\right) =$$

$$= \sum_{i=1}^{m+1} c_{i} \left[(n+1)^{i} - n^{i} \right] - (n+1)^{m}.$$

$$(17)$$

Using the binomial theorem repeatedly and putting the differences in good order according to decreasing powers of the parameter n we obtain

$$\left[\binom{m+1}{1} c_{m+1} - \binom{m}{0} \right] n^m + \left[\binom{m+1}{2} c_{m+1} + \binom{m}{1} c_m - \binom{m}{1} \right] n^{m-1} +
+ \left[\binom{m+1}{3} c_{m+1} + \binom{m}{2} c_m + \binom{m-1}{1} c_{m-1} - \binom{m}{2} \right] n^{m-2} + \dots$$

$$\dots + \left[c_{m+1} + c_m + \dots + c_1 - \binom{m}{m} \right].$$
(18)

The polynomial $W_{m+1}(n)$ equals the sum $\sum_{k=1}^{n} k^m$ as for arbitrary n $R_{m+1}(n) - R_{m+1}(n+1) = 0$. Equating the coefficients of this difference to zero we arrive at the following set of equations allowing us to obtain the coefficients $c_1, c_2, \ldots, c_m, c_{m+1}$ (compare with [7]):

$$\begin{cases}
\binom{m+1}{1}c_{m+1} = \binom{m}{0} \\
\binom{m+1}{2}c_{m+1} + \binom{m}{1}c_m = \binom{m}{1} \\
\binom{m+1}{3}c_{m+1} + \binom{m}{2}c_m + \binom{m-1}{1}c_{m-1} = \binom{m}{2} \\
\vdots & \vdots & \vdots \\
\binom{m+1}{m+1}c_{m+1} + \binom{m}{m}c_m + \binom{m-1}{m-1}c_{m-1} + \binom{m-2}{m-2}c_{m-2} + \cdots \\
\cdots + \binom{1}{1}c_1 = \binom{m}{m}
\end{cases}$$
(19)

The principal determinant of this set of equations is nonzero as $\binom{1}{i} \neq 0$ for $i = 1, 2, \ldots, m + 1$. Hence, this set has a unique solution

$$c_{m+1} = \frac{\binom{m}{0}}{\binom{m+1}{1}} = \frac{1}{m+1},$$

$$c_m = \frac{1}{\binom{m}{1}} \left[\binom{m}{1} - \binom{m+1}{2} \frac{1}{m+1} \right] = \frac{1}{2},$$

$$c_{m-1} = \frac{1}{12}m, \quad c_{m-2} = 0, \quad c_{m-3} = -\frac{1}{720}m(m-1)(m-2), \dots$$
(20)

To obtain the sum $\sum_{k=1}^{n} k^{m}$ it is sufficient to put the received coefficients into Eq. (18).

For example, for the sum $\sum_{k=1}^{n} k^4$ the set of equations (19) has the form

$$\begin{cases}
\binom{5}{1}c_5 = \binom{4}{0} \\
\binom{5}{2}c_5 + \binom{4}{1}c_4 = \binom{4}{1} \\
\binom{5}{3}c_5 + \binom{4}{2}c_4 + \binom{3}{1}c_3 = \binom{4}{2} \\
\binom{5}{4}c_5 + \binom{4}{3}c_4 + \binom{3}{2}c_3 + \binom{2}{4}c_2 = \binom{4}{3} \\
\binom{5}{5}c_5 + \binom{4}{4}c_4 + \binom{3}{3}c_3 + \binom{2}{2}c_2 + \binom{1}{1}c_1 = \binom{4}{4}
\end{cases}$$
fore,

Therefore,

refore,
$$c_5 = \frac{1}{5}$$
, $c_4 = \frac{1}{2}$, $c_3 = \frac{1}{3}$, $c_2 = 0$, $c_1 = -\frac{1}{30}$.

Hence, we have:

$$\sum_{k=1}^{n} k^4 = \frac{1}{5}n^5 + \frac{1}{2}n^4 + \frac{1}{3}n^3 - \frac{1}{30}n.$$

References

- [1] G. Bryll. Some remarks on arithmetical sequences of higher degrees. Zeszyty Naukowe WSP w Opolu, Matematyka, 7, 23–37, 1969. (In Polish).
- [2] G. Bryll. Application of the succesive differences method to posing of induction hypothesis. Prace Naukowe WSP w Częstochowie, Matematyka, 7, 79–83. 1999. (In Polish).
- [3] G. Bryll, R. Sochacki. A uniform treatment of arithmetical and geometrical sequences of higher degrees. Acta Universitatis Purkynianae, 72, 65–72, 2001.

- [4] H.B. Lübsen. Analysis. Leipzig, 1922.
- [5] T. Rakowiecki. Sumy potęg kolejnych liczb naturalnych. Matematyka, Czasopismo dla nauczycieli, Nr 6(28), 5–9, 1953.
- [6] G.A. Sorokin. Ob odnom preobrazowanii konečnych summ. Matematika v škole, Nr 2, s. 36, 1991.
- [7] M.M. Tar. Ob odnom metode summirovanija stepenej čisel naturalnogo rjada. Matematika v škole, Nr 5, 44–45, 1968.